AzMERIT ELA Item Type Scavenger Hunt

Item
Type

What is it?

How do you
know?

Highlight the sentence from the poem
that best shows the speaker’s conflict?

Which words from the instructions have the suffix -er
meaning “more”?

paper blender
thicker water
rougher flower

Click this hyperlink to return to the nonfiction instructions.
Complete this cause-and-effect chart.

— T 7 .

/ More landfill The paper is

‘ always thicker.

(
space is available.

—~ ~.

/ Wood fibers are ( A paper mill \

|
creates pulp. /

Y

Cause:
Old paper is
recycled instead
of thrown away
or burned.

used again.

Which lines from the poem give the most details
about the setting?

a. Lines 1 through 3
b. Lines 6 through 8

c. Lines 10 through 12
d. Lines 14 through 16

Why does the author use the word ‘peetrified” instead of
“petrified” in this sentence?

“He would tell stories of glass mountains, “petrified” birds singing “petrified”
songs, and talk about the days when Pike’s Peak was just a hole in the
ground.” (Paragraph 6)

Type your answer in the space provided.




AzZMERIT Math Item Type

ITEM TYPE

WHAT IS IT?

How CAN | USE IT?

Multi-Step
Response

Select all the statements that are true about %

[ Itis a rational number.

[ Itis an irrational number.

[T When it is written as a decimal, it terminates.
[ When it is written as a decimal, it repeats.

[ It is an approximate value of pi.

[T When it is written as a decimal, it is equivalent to 3.10.

Equation
Response

The table shows the amount of money in Jody’s bank account

Jody's Bank
Account

Da Amount
(d (a)
2 $ 83
5 $143
7 $183
11 $263
15 $343

Create an equation that models the relationship between the
day, d, and the amount of money, a, in Jody’s bank account.

Multiple Choice
Response

Graphic
Response —
Drag and Drop
Drawing
Hot Spot

Use the Add Arrow tool to graph a line that has a slope of -3

and a y-intercept of 2.
D = O

8 -6 -4 -2 24 &6 8B

Table Response

Complete the two-way table to show one possibility for
Fabian’s results.

Own a Bike Do:lg%kgwn Total
Boys 12 [ | =
Girls | [ | 25
Total | [ | 50

Natural Language
Response

Michele is building a rectangular landing strip for airplanes.
She has enough material to cover 2 squares miles. The
landing strip must be % mile wide. What is the amount of
material she has for the length?
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